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QUESTION 1

Which of the following Big SQL statements is valid? 

A. CREATE TABLE t1 WITH CS; 

B. WITH t1 AS (...) (SELECT * FROM t1 WITH RR USE AND KEEP SHARE LOCKS) UNION ALL (SELECT * FROM t1
WITH UR); 

C. SELECT deptno, deptname, mgrno FROM t1 WHERE admrdept =`A00\\' FOR READ ONLY WITH RS USE AND
KEEP EXCLUSIVE LOCKS 

D. ALTER TABLE t1 ALTER COLUMN deptname SET DATA TYPE VARCHAR(100) USE AND KEEP UPDATE
LOCKS 

Correct Answer: C 

 

QUESTION 2

The number of partitions created by DynamicPartitions in Hive can be controlled by which of the following? 

A. hive.exec.max.dynamic.partitions.pernode 

B. hive.exec.max.dynamic.partitions 

C. hive.exec.max.created.files 

D. All of the above 

Correct Answer: A 

Reference: https://resources.zaloni.com/blog/partitioning-in-hive 

 

QUESTION 3

Which of the following statements regarding Sqoop is TRUE? 

A. Output files are always delimited text files in HDFS 

B. The import of a single database table results in multiple files in HDFS 

C. When exporting data back to a database, a target table will be created if it doesn\\'t already exist 

D. Sqoop processes the entire database table as a single unit rather than row-by-row for enhanced performance 

Correct Answer: A 

Reference: https://sqoop.apache.org/docs/1.4.6/SqoopUserGuide.html 
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QUESTION 4

Which of the following statements regarding Sqoop is TRUE? (Choose two.) 

A. All columns in a table must be imported 

B. Sqoop bypasses MapReduce for enhanced performance 

C. Each row from a source table is represented as a separate record in HDFS 

D. When using a password file, the file containing the password must reside in HDFS 

E. Multiple options files can be specified when invoking Sqoop from the command line 

Correct Answer: CE 

Reference: https://data-flair.training/blogs/apache-sqoop-tutorial/ 

 

QUESTION 5

Which of the following is NOT TRUE regarding the Job Control Plane operator? 

A. User-defined checkpoint logic can be coded in the logic section 

B. It must be added to each application that includes a consistent region 

C. It controls the notifications to set of operators that are included in a consistent region 

D. It has no input or output ports and appears as a stand-alone operator in an application graph 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/SSCRJU_4.3.0/com.ibm.streams.dev.doc/doc/
jobcontrolplane.html 
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